AMIAD
Water Systems

Spare Parts List
Steel FiltersMarch
2017

Qamiad &

WATER SYSTEMS AMIAD

Irrigationglobal.com

Spare Parts for Plastic and Metal Screen Filters Amiad
Manual, Automatic and Semi Automatic - Click for Orders and Support

L0 A3Y ‘£10C Y24BN PNEA


https://www.irrigationglobal.com/contents/en-us/d20369_semi_automatic_brushaway_scanaway_filters_spare_parts.html

AMIAD Water Systems

Spare Parts List
Steel Filters

The parts contained in this publication are applicable from 1 January 2016 and are subject to constant review. Amiad Water
Systems Ltd. ("Amiad”) reserves the right to change product's and services' parts at any time without further notice.

This part list is provided for information purposes only. No person should act on the basis of any information contained in this
publication without consulting with Amiad's representative. Amiad will not be held responsible for loss or damage caused by
errors, omissions, misprints or misinterpretation of the content thereof. Amiad expressly disclaims all and any liability to any
person in respect of anything done or omitted, and the consequences of anything done or omitted, by any such person in
reliance on the contents of this publication. The parts contained in this publication are quoted free from any taxes, levies,
charges and/ or other fees which are or may be imposed by any governmental, regulatory, taxation or other authority.

All the descriptions, drawings, pictures and/or any other information provided in this document is provided solely for guidance
and reference. The guidance is given in good faith and is not intended to impose any obligation to Amiad. Please consult Amiad
experts or its authorized representatives for further information or the current technical specifications before purchase.

The content of this part list is the sole and property of Amiad, including any intellectual property rights therein, whether
registered or not. No part of this publication may be reproduced, recast, reformatted or transmitted in any form by any means,
electronic or mechanical including photocopying, recording or any information storage and retrieval system, without the prior
written permission from Amiad.

“Amiad”, “Arkal” and “Filtomat” are all registered trademarks of Amiad Water Systems Ltd.
© 2017 Amiad All rights reserved.

miad (o)
Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q a Iad

we
WATER SYSTEMS ARKAL FILTOMAT AMIAD



TABLE OF CONTENTS

MANUAL STEEL FILTERS

2" Steel Filter 4-5
3" Steel Filter 6-7
4"C Steel Filter 8-9
4"S & 6"C Steel Filter 10-11
6"S & 8" Steel Filter 12-13
6"S & 8" Modular Steel Filter 14-15

SEMI AUTOMATIC STEEL FILTERS

3" Scanaway Steel Filter 16-18
3" Brushaway Steel Filter 19-21
4"S & 6"C Scanaway Steel Filter 22-24
4"S & 6"C Brushaway Steel Filter (molded screen) 25-27
4"S & 6"C Brushaway Steel Filter (perforated screen) 28-30
6"S & 8" Scanaway Steel Filter 31-33
6"S & 8" Brushaway Steel Filter [molded screen) 34-36
6"S & 8" Brushaway Steel Filter (perforated screen) 37-39
6”S & 8" Modular Scanaway Steel Filter 40-42
6"S & 8" Modular Brushaway Steel Filter ([molded screen) 43-45
6"S & 8" Modular Brushaway Steel Filter (perforated screen) 46-48
SCREENS

Molded Weavewire Screens 49-50
Perforated Screens 51

®
Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad @

WATER SYSTEMS ARKAL FILTOMAT




£ AMIAD

2" STEEL FILTER = DRAWING

® .:‘2-’-2_0_...
4 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad @ S

ot
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



2" STEEL FILTER PARTS SCHEDULE

5

NO.

2

6

9

9.1

10

1"

12

DESCRIPTION

Metal Housing 2" BSPT PKPK 3002 St.37-2 Polyester

Metal Housing 2" NPT PKPK 3002 St.37-2 Polyester

Metal Housing 2" BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 2" I1ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 2" ASA150 PKPK 3002 St.37-2 Polyester

Nipple 4" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD M12 80mm C/St. Din931 Z.Plated

2-4" Metal Ring F/Screw M12 PP Black

Shaped Seal NBR 70 Shore Service Port SAF-4500

Metal Lid 2" PKPK 3002 St.37-2 Polyester

Flat Washer M12 Din125 C/St. Zinc Plated

Molded Weavewire Screen S/5t.316L 500SQ.cm 130Mic Amiad 2" NBR Seals

For all available filtration degrees, see pages 49-51

Parker 0-Ring 2-242 NBR 70 Shore no Flash DW

Perforated Screen S/St.316L 500SQ.cm 1500Mic Amiad 2”

For all available filtration degrees, see pages 49-51

Plug 12" BSP M PP Plasson

Wing Nut M12 Brass Din315

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000050

710105-000051

710105-000049

710105-000064

710105-004611

710103-000591

700190-001305

760101-000322

710101-000632

770104-000083

710105-000057

760103-000077

700101-000388

770102-000130

700101-000382

780101-000948

760102-000113

amiad

Q WATER SYSTEMS

O &

ARKAL FILTOMAT




£ AMIAD

3" STEEL FILTER - DRAWING

® .:‘2-’-2_0_...
6 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad @ S

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



3" STEEL FILTER PARTS SCHEDULE

/

NO.

1

1

1

2

3

4

5

6

7

8

10

"

1.1

12

DESCRIPTION

Metal Housing 3" BSPT PKPK 3002 St.37-2 Polyester
Metal Housing 3" ASA/BSTD PKPK 3002 St.37-2 Polyester
Metal Housing 3" 1ISO16 PKPK 3002 St.37-2 Polyester
Nipple %" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD M12 80mm C/St. Din931 Z.Plated
2-4"Metal Ring F/Screw M12 PP Black

Shaped Seal NBR 70 Shore Service Port SAF-4500
Metal Lid 2" PKPK 3002 St.37-2 Polyester

Flat Washer M12 Din125 C/St. Zinc Plated

Wing Nut M12 Brass Din315

Plug 12" BSP M PP Plasson

Molded Weavewire Screen S/St.316L 1430SQ.cm 130Mic 3" Metal NBR Seals

For all available filtration degrees, see pages 49-51
Parker 0-Ring 2-242 NBR 70 Shore no Flash DW

Perforated Screen S/St.316L 14305Q.cm 2500Mic 3" Metal

For all available filtration degrees, see pages 49-51

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

Q

SAP. CAT.NO.

710105-000115

710105-000112

710105-000114

710103-000591

700190-001305

760101-000322

710101-000632

770104-000083

710105-000057

760103-000077

760102-000113

780101-000948

700101-000449

770102-000130

700101-000440

amiad’ £

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

4"C STEEL FILTER - DRAWING

® .:‘2-’-2‘::.
8 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad @ S

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



4"C STEEL FILTER PARTS SCHEDULE

S

NO.

1

1

1

2

3

4

5

6

7

10

"

1.1

12

DESCRIPTION

Metal Housing 4”C In-Line ISO16 PKPK 3002 St.37-2 Polyester
Metal Housing 4”C In-Line ASA150 PKPK 3002 St.37-2 Polyester
Metal Housing 4”C In-Line BSTD PKPK 3002 St.37-2 Polyester
Nipple %" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD M12 80mm C/St. Din931 Z.Plated
2-4"Metal Ring F/Screw M12 PP Black

Shaped Seal NBR 70 Shore Service Port SAF-4500

Flat Washer M12 Din125 C/St. Zinc Plated

Wing Nut M12 Brass Din315

Plug 12" BSP M PP Plasson

Metal Lid 2" PKPK 3002 St.37-2 Polyester

Molded Weavewire Screen S/St.316L 21755Q.cm 130Mic 4" Metal NBR Seals

For all available filtration degrees, see pages 49-51
Parker 0-Ring 2-242 NBR 70 Shore no Flash DW

Perforated Screen S/St.316L 21755Q.cm 2500Mic 4" Metal

For all available filtration degrees, see pages 49-51

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

Q

SAP. CAT.NO.

710105-000143

710105-000142

710105-000141

710103-000591

700190-001305

760101-000322

710101-000632

770104-000083

760103-000077

760102-000113

780101-000948

710105-000057

700101-000473

770102-000130

700101-000466

amiad’ £

WATER SYSTEMS

ARKAL FILTOMAT




4"S -B6"CSTEEL FILTER - DRAWING

’ (9]
]O | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad .

WATER SYSTEMS ARKAL FILTOMAT




4"S -B6"C STEEL FILTER PARTS SCHEDULE

NO.

8

10

10.1

"

DESCRIPTION

Metal Housing 4”S In-Line 1ISO16 PKPK 3002 St.37-2 Polyester
Metal Housing 4”S In-Line ASA150 PKPK 3002 St.37-2 Polyester
Metal Housing 4”S In-Line BSTD PKPK 3002 St.37-2 Polyester
Metal Housing 6”C In-Line Jad PKPK 3002 St.37-2 Polyester
Metal Housing 6”C In-Line BSTD PKPK 3002 St.37-2 Polyester
Lid 6”-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple 4" 2" Metal Brass BSPT

Nipple 2"x100mm PVC

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %"UNC 5 %" C/St. ASME B18.2.1 Z.Plated
Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St. Zinc Plated B18.17

Molded Weavewire Screen S/St.316L 27405Q.cm 130Mic 6” Metal

For all available filtration degrees, see pages 49-51
Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Perforated Screen S/St.316L 27405Q.cm 1500Mic 6 Metal

For all available filtration degrees, see pages 49-51

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000155

710105-000154

710105-000153

710105-000196

710105-000195

710103-000679

770104-000089

710103-000591

780101-000937

700190-001305

760101-000297

760103-000070

760102-000076

700101-000489

770104-000080

700101-000482

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6”°S - 8" STEEL FILTER - DRAWING

) £
]2 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad

'3
s
WATER SYSTEMS ARKAL FILTOMAT AMIAD



6°S - 8" STEEL FILTER PARTS SCHEDULE

NO.

8

10

10.1

"

13

DESCRIPTION

Metal Housing 6”S In-Line Jad PKPK 3002 St.37-2 Polyester
Metal Housing 6”S In-Line BSTD PKPK 3002 St.37-2 Polyester
Metal Housing 8" In-Line ISO16 PKPK 3002 St.37-2 Polyester
Metal Housing 8" In-Line ASA150 PKPK 3002 St.37-2 Polyester
Metal Housing 8" In-Line BSTD PKPK 3002 St.37-2 Polyester
Lid 6”-14" 8" Metal Polyester W/2" THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple 4" 2" Metal Brass BSPT

Nipple 2"x100mm PVC

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %"Unc 5 %" C/St. ASME B18.2.1 Z.Plated
Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St. Zinc Plated B18.17

Molded Weavewire Screen S/St.316L 57205Q.cm 130Mic 8" Metal

For all available filtration degrees, see pages 49-51
Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Perforated Screen S/St.316L 57205Q.cm 1500Mic 8" Metal

For all available filtration degrees, see pages 49-51

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000203

710105-000201

710105-000248

710105-000246

710105-000244

710103-000679

770104-000089

710103-000591

780101-000937

700190-001305

760101-000297

760103-000070

760102-000076

700101-000515

770104-000080

700101-000508

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

6”S - 8" MODULAR STEEL FILTER - DRAWING

]4 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad K

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



6”S - 8" MODULAR STEEL FILTER PARTS SCHEDULE

NO.

8

10

10.1

"

15

DESCRIPTION

Metal Housing 6”S Modular BSTD PKPK 3002 C/St. Polyester
Metal Housing 6”S Modular Jad PKPK 3002 St.37-2 Polyester
Metal Housing 8" Modular [SO16 PKPK 3002 St.37-2 Polyester
Metal Housing 8" Modular ASA150 PKPK 3002 St.37-2 Polyester
Metal Housing 8" Modular BSTD PKPK 3002 St.37-2 Polyester
Lid 6”-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple 4" 2" Metal Brass BSPT

Nipple 2"x100mm PVC

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %"Unc 5 %" C/St. ASME B18.2.1 Z.Plated
Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St. Zinc Plated B18.17

Molded Weavewire Screen S/St.316L 57205Q.cm 130Mic 8" Metal

For all available filtration degrees, see pages 49-51
Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Perforated Screen S/St.316L 57205Q.cm 1500Mic 8" Metal

For all available filtration degrees, see pages 49-51

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000210

710105-000212

710105-000261

710105-000259

710105-000257

710103-000679

770104-000089

710103-000591

780101-000937

700190-001305

760101-000297

760103-000070

760102-000076

700101-000515

770104-000080

700101-000508

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

3" SCANAWAY STEEL FILTER - DRAWING

]6 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad . K

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



3" SCANAWAY STEEL FILTER PARTS SCHEDULE

NO.

1
1

1

4
5
6
7

8

10

10.1
1"
12
13
14
15
16
17

17

17

DESCRIPTION

Metal Housing 3" BSPT PKPK 3002 St.37-2 Polyester

Metal Housing 3" ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 3" ASA/BSTD PKPK 3002 St.37-2 Polyester

Nipple 4" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD M12 80mm C/St. Din931 Z.Plated

2-4"Metal Ring F/Screw M12 PP Black

Shaped Seal NBR 70 Shore Service Port SAF-4500

Metal Lid 2" PKPK 3002 St.37-2 Polyester

Flat Washer M12 Din125 C/St. Zinc Plated

Wing Nut M12 Brass Din315

Molded Weavewire Screen S/St.316L 1430SQ.cm 130Mic 3" Metal NBR Seals

For all available filtration degrees, see pages 49-51

Parker 0-Ring 2-242 NBR 70 Shore no Flash DW

Suction Scanner Centering Ring Acetal Black

Parker 0-Ring 2-125 NBR 70 Shore no Flash

Parker 0-Ring 2-114 NBR 70 Shore no Flash DW

Sealing Insert 2" Metal Semi-Auto Delrin F/Suction Scanner 2”-4"

Operating Handle S/St.316L F/Brushaway+Scanaway
Nozzle 3" Metal Semi-Auto RPP Suction Scanner
1" T Connector C/St. BSPT F/Brushaway+Scanaway Red

1 %" T Connector C/St. NPT F/Brushaway+Scanaway Red

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

Q

SAP. CAT.NO.

710105-000115

710105-000114

710105-000112

710103-000591

700190-001305

760101-000322

710101-000632

770104-000083

710105-000057

760103-000077

760102-000113

700101-000449

770102-000130

710101-000656

770102-000092

770102-000083

710103-000717

710102-000057

710103-000722

710102-000086

710102-000087

amiad

WATER SYSTEMS

(Continued)

O &

ARKAL FILTOMAT




3” SCANAWAY STEEL FILTER PARTS SCHEDULE (continued)

NO.

18
19
20
21
22
23

24

18

DESCRIPTION

Bearing %" 2" Plastic Semi-Auto PVC BSPT Nut F/B/A S/A Shaft
Parker 0-Ring 2-116 NBR 70 Shore

Flat Washer M6 Din125 5/5t.316

Hex Nut M6 S/5t.316 Din934 DW

Hex Bolt Full THRD Mé 35mm S/St.304 Din933

2-Way Ball Valve 12" BSP PVC Grey Manual Plasson

Clogging Indicator

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710103-000703
770102-000085
760103-000094
760102-000085
760101-000447
730104-000253

700190-001245

Qamiad e

WATER SYSTEMS ARKAL FILTOMAT




3" BRUSHAWAY STEEL FILTER - DRAWING

]9 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad K

ot
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



3" BRUSHAWAY STEEL FILTER PARTS SCHEDULE

NO.

9.1

10

"
12
13
14
15
15

16

20

DESCRIPTION

Metal Housing 3" BSPT PKPK 3002 St.37-2 Polyester
Metal Housing 3" ISO16 PKPK 3002 St.37-2 Polyester
Metal Housing 3" ASA/BSTD PKPK 3002 St.37-2 Polyester
Nipple 4" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD M12 80mm C/St. Din931 Z.Plated
2-4"Metal Ring F/Screw M12 PP Black

Shaped Seal NBR 70 Shore Service Port SAF-4500

Metal Lid 2" PKPK 3002 St.37-2 Polyester

Flat Washer M12 Din125 C/St. Zinc Plated

Molded Weavewire Screen S/St.316L 1430SQ.cm 300Mic 3" Metal NBR Seals

For all available filtration degrees, see pages 49-51
Parker 0-Ring 2-242 NBR 70 Shore no Flash DW

Perforated Screen S/St.316L 14305Q.cm 2500Mic 3" Metal

For all available filtration degrees, see pages 49-51
Scanaway/Brushaway Centering Ring Acetal Black DW
Parker 0-Ring 2-114 NBR 70 Shore no Flash DW

Wing Nut M12 Brass Din315

Operating Handle S/St.316L F/Brushaway+Scanaway

1 %" T Connector C/St. BSPT F/Brushaway+Scanaway Red
1" T Connector C/St. NPT F/Brushaway+Scanaway Red

Bearing %" 2" Plastic Semi-Auto PVC BSPT Nut F/B/A S/A Shaft

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

Q

SAP. CAT.NO.

710105-000115

710105-000114

710105-000112

710103-000591

700190-001305

760101-000322

710101-000632

770104-000083

710105-000057

760103-000077

700101-000451

770102-000130

700101-000440

710101-000657

770102-000083

760102-000113

710102-000057

710102-000086

710102-000087

710103-000703

amiad’ £

WATER SYSTEMS

(Continued)

ARKAL FILTOMAT




3" BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

NO.

17
18
19
20
21
22
23
24
241
24.2
243

24.4

2

DESCRIPTION

Parker 0-Ring 2-116 NBR 70 Shore

Flat Washer M6 Din125 S/St.316

Lock Spring Shaft Steel Filters S/S5t.3161 DW

Flat Washer M12 Din125 S/St.304

Clogging Indicator

Hex Bolt Full THRD Mé 35mm S/St.304 Din933

2-Way Ball Valve 12" BSP PVC Grey Manual Plasson

Brush Assembly (3",4"L)

4"L Spindle+Frame S/St.316L

Brush 242x14mm 2" Plastic Semi-Auto Plastic 2"T/8" B/A DW

Hex Bolt Full THRD M6 25mm S/St.316 Din933 DW

Hex Nut M6 S/5t.316 Din934 DW

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

770102-000085

760103-000094

760107-000053

760103-000098

700190-001245

760101-000447

730104-000253

700190-001327

710102-000213

710103-000685

760101-000445

760102-000085

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

4"S & 6"C SCANAWAY STEEL FILTER - DRAWING

22 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad . K

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



4"S & 6"C SCANAWAY STEEL FILTER PARTS SCHEDULE

NO.

1

7

9.1
10
1"

12
13
13
14

15

23

DESCRIPTION

Metal Housing 4”S In-Line 1ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 4”S In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 4”S In-Line ASA150 PKPK 3002 St.37-2 Polyester

Metal Housing 6”C In-Line Jad PKPK 3002 St.37-2 Polyester

Metal Housing 6"C In-Line BSTD PKPK 3002 St.37-2 Polyester

Lid 8" Metal Semi-Auto Polyester W/2.5"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple V" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %" Unc 5 %" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %" Unc C/St. Zinc Plated B18.17

Molded Weavewire Screen S/St.316L 2740SQ.cm 130Mic 6" Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Operating Handle S/St.316L F/Brushaway+Scanaway

Tightening Nut 6" Metal Semi-Auto Brass Nut 4”S-14"Brush

Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

Scanaway T Connector 4”-14" BSPT PKPK 3002 St.37-2 Polyester

Scanaway T Connector 4"-14" NPT PKPK 3002 St.37-2 Polyester

2-Way Ball Valve 2" F/F Brass Manual

Parker 0-Ring 2-232 NBR 70 Shore no Flash

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000155

710105-000153

710105-000154

710105-000196

710105-000195

710103-000780

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

760102-000076

700101-000489

770104-000080

710102-000057

710103-000740

710103-000739

710105-000304

710105-000305

730104-000265

770102-000121

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




4"S & 6"C SCANAWAY STEEL FILTER PARTS SCHEDULE (continued)

NO. DESCRIPTION
16 Parker 0-Ring 2-235 NBR 70 Shore
17 0-Ring Seal ID60mm TH4mm NBR 70 Shore no Flash
18 Suction Scanner (475/6"C Steel)
18.1 Rod 8” Metal Semi-Auto S/St.316L Scanner Shaft
18.2 Flat Washer M6 Din125 S/S5t.316
18.3 Hex Bolt Full THRD Mé 35mm S/St.304 Din933
18.4 Nylon Insert Locknut M6 S/St.304 Din985
19 Seal 8” Metal Semi-Auto Delrin Seat F/Scanaway Lid
20 Hex Bolt Full THRD M6 35mm S/St.304 Din933
21 Hex Nut M6 S/St.316 Din934 DW
22 Drive Bolt 4”-14" 8" Metal Semi-Auto Delrin F/Scanaway Filter
23 Nut %" Threaded PP Plasson
24 Fertilizers Clip PBT Black
25 Flat Washer M6 Din125 S/St.316
26 Clogging Indicator
27 Sealing Rope Set 4mm L-1779
2 4 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

770102-000124

770101-000040

700190-001442

710103-000770

760103-000094

760101-000447

760102-000101

710103-000778

760101-000447

760102-000085

710103-000776

780101-000975

710101-000974

760103-000094

700190-001245

700190-001363

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




4"’S & 6"C BRUSHAWAY STEEL FILTER - DRAWING

MOLDED SCREEN

25 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad . K

ot
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



4"S & 6"C BRUSHAWAY STEEL FILTER PARTS SCHEDULE

MOLDED SCREEN

NO.

1

9.1
10
1"

12
13
13

14

26

DESCRIPTION

Metal Housing 4”S In-Line 1ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 4”S In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 4”S In-Line ASA150 PKPK 3002 St.37-2 Polyester

Metal Housing 6"C In-Line Jad PKPK 3002 St.37-2 Polyester

Metal Housing 6”C In-Line BSTD PKPK 3002 St.37-2 Polyester

Lid 67-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple " 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %"Unc 5 %" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St Zinc Plated B18.17

Molded Weavewire Screen S/S5t.316L 2740SQ.cm 200Mic 6" Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Operating Handle S/St316l F/4"-14" Brushaway

Tightening Nut 6" Metal Semi-Auto Brass Nut 4”S-14"Brush

Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

2" T Connector C/St. BSPT Brushaway Red

2" T Connector C/St. NPT Brushaway Red

2-Way Ball Valve 2" F/F Brass Manual

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000155

710105-000153

710105-000154

710105-000196

710105-000195

710103-000679

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

760102-000076

700101-000490

770104-000080

710102-000219

710103-000740

710103-000739

710102-000130

710102-000132

730104-000265

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




4"S & 6"C BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

MOLDED SCREEN

NO.

15
16
17
18
19
20
21
22
23
24
241
24.2
24.3

24.4

27

DESCRIPTION

Hex Bolt Full THRD M6 35mm S/St.304 Din933

Spring Washer Mé Din127 S/St.316

Lock Spring Shaft Steel Filters S/S5t.3161 DW

Sealing Rope Set 4mm L-1779

Nut %" Threaded PP Plasson

Fertilizers Clip PBT Black

Flat Washer M6 Din125 S/S5t.316

Clogging Indicator

Bushing 47-14" 8" Metal Semi-Auto Delrin Guide Brush Axis

Brush Assembly 4"S/6"C for MLD Screen

Hex Nut Mé S/5t.316 Din934 DW

4"S Spindle+Frame 5/5t.316l Brushaway F/Molded Screen

Brush 260mm 8" Metal Semi-Auto Plastic Unit F/Molded Screen

Hex Bolt Full THRD M6 25mm S/St.316 Din933 DW

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

760101-000447

760103-000109

760107-000053

700190-001363

780101-000975

710101-000974

760103-000094

700190-001245

710103-000777

700190-001441

760102-000085

710102-000217

710103-000749

760101-000445

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

4"’S & 6"C BRUSHAWAY STEEL FILTER - DRAWING

PERFORATED SCREEN

28 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad K

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



4"S & 6"C BRUSHAWAY STEEL FILTER PARTS SCHEDULE

PERFORATED SCREEN

NO. DESCRIPTION SAP. CAT.NO.

1 Metal Housing 4”S In-Line ISO16 PKPK 3002 St.37-2 Polyester 710105-000155
1 Metal Housing 4”S In-Line BSTD PKPK 3002 St.37-2 Polyester 710105-000153
1 Metal Housing 4”S In-Line ASA150 PKPK 3002 St.37-2 Polyester 710105-000154
1 Metal Housing 6"C In-Line Jad PKPK 3002 St.37-2 Polyester 710105-000196
1 Metal Housing 6"C In-Line BSTD PKPK 3002 St.37-2 Polyester 710105-000195
2 Lid 6”-14" 8" Metal Polyester W/2"THR 710103-000679
3 Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter 770104-000089
4 Nipple " 2" Metal Brass BSPT 710103-000591
5 Pressure Check Point (Plastic) W/O Nipple 700190-001305
6 Hex Bolt Partial THRD %"Unc 5 %" C/St. ASME B18.2.1 Z.Plated 760101-000297
7 Flat Washer M20 Din125 C/St. Zinc Plated 760103-000070
8 Wing Nut %"Unc C/St. Zinc Plated B18.17 760102-000076
9 Perforated Screen S/St.316L 2740SQ.cm 1500Mic 6" Metal 700101-000482

For all available filtration degrees, see pages 49-51

9.1 Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter 770104-000080
10 Operating Handle 5/St.316L F/4"-14" Brushaway 710102-000219
" Tightening Nut 6" Metal Semi-Auto Brass Nut 4”S-14"Brush 710103-000740
12 Bushing 6" Metal Semi-Auto Delrin F/4"S-14" 710103-000739
13 2" T Connector C/St. BSPT Brushaway Red 710102-000130
13 2" T Connector C/St. NPT Brushaway Red 710102-000132
14 2-Way Ball Valve 2" F/F Brass Manual 730104-000265

(Continued)

) £
29 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad

WATER SYSTEMS ARKAL FILTOMAT




4"S & 6"C BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

PERFORATED SCREEN

NO.

15
16
17
18
19
20
21
22
23
23.1
23.2
233

23.4

30

DESCRIPTION

Hex Bolt Full THRD M6 35mm S/St.304 Din933

Spring Washer Mé Din127 S/St.316

Lock Spring Shaft Steel Filters S/S5t.3161 DW

Sealing Rope Set 4mm L-1779

Flat Washer M6 Din125 S/S5t.316

Center.ring 6"Mtl S.Auto Delrin Insert

8" Centering Ring S/St.316L

Clogging Indicator

Brush Assembly 4”S/6"C 194 F/Perf

Hex Nut M6 S/St.316 Din934 DW

Hex Bolt Full THRD M6 25mm S/St.316 Din933 DW

4"S Spindle+Frame 5/5t.316l Brushaway

Brush 435mm 6" Metal Semi-Auto PVC Unit

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

760101-000447

760103-000109

760107-000053

700190-001363

760103-000094

710103-000735

710102-000163

700190-001245

700190-001438

760102-000085

760101-000445

710102-000215

710103-000732

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




3] | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad . K

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



6°S & 8" SCANAWAY STEEL FILTER PARTS SCHEDULE

NO.

9.1
10
1"

12
13
14

15

32

DESCRIPTION

Metal Housing 6”S In-Line Jad PKPK 3002 St.37-2 Polyester

Metal Housing 6”S In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line 1ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line ASA150 PKPK 3002 St.37-2 Polyester

Lid 8" Metal Semi-Auto Polyester W/2.5” THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple 4" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %" Unc 5 4" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %" Unc C/St. Zinc Plated B18.17

Molded Weavewire Screen S/St.316L 57205Q.cm 130Mic 8" Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Drive Bolt 4"-14" 8" Metal Semi-Auto Delrin F/Scanaway Filter

Nut %" Threaded PP Plasson

Fertilizers Clip PBT Black

Suction Scanner (8”)

Seal 8" Metal Semi-Auto Delrin Seat F/Scanaway Lid

0-Ring Seal ID60mm TH4mm NBR 70 Shore no Flash

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000203

710105-000201

710105-000248

710105-000244

710105-000246

710103-000780

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

760102-000076

700101-000515

770104-000080

710103-000776

780101-000975

710101-000974

700190-001471

710103-000778

770101-000040

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6°S & 8" SCANAWAY STEEL FILTER PARTS SCHEDULE (continued)

NO.

16
17
18
18
19
20
21
22
23
24
25
26

27

33

DESCRIPTION

Parker 0-Ring 2-235 NBR 70 Shore

Parker 0-Ring 2-232 NBR 70 Shore no Flash

Scanaway T Connector 4”-14" BSPT PKPK 3002 St.37-2 Polyester
Scanaway T Connector 4"-14" NPT PKPK 3002 5t.37-2 Polyester
Clogging Indicator

Operating Handle S/St.316L F/Brushaway+Scanaway

Tightening Nut 6” Metal Semi-Auto Brass Nut 4”S-14"Brush
Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

Sealing Rope Set 4mm L-1779

Flat Washer M6 Din125 S/St.316

Hex Bolt Full THRD M6 35mm S/St.304 Din933

Hex Nut M6 S/St.316 Din934 DW

2-Way Ball Valve 2" F/F Brass Manual

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

770102-000124

770102-000121

710105-000304

710105-000305

700190-001245

710102-000057

710103-000740

710103-000739

700190-001363

760103-000094

760101-000447

760102-000085

730104-000265

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6°S & 8" BRUSHAWAY STEEL FILTER - DRAWING

MOLDED SCREEN

34 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad . K

WATER SYSTEMS ARKAL FILTOMAT AMIAD



6°S & 8" BRUSHAWAY STEEL FILTER PARTS SCHEDULE

MOLDED SCREEN

NO.

1

9.1
10
1"
12
13
14

15

35

DESCRIPTION

Metal Housing 6”S In-Line Jad PKPK 3002 St.37-2 Polyester

Metal Housing 6”S In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line 1ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line ASA150 PKPK 3002 St.37-2 Polyester

Lid 67-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple " 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %" UNC 5 %" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Clogging Indicator

Molded Weavewire Screen S5/5t.316L 5720SQ.cm 200Mic 8" Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Operating Handle S/St.3161 F/4"-14" Brushaway

Tightening Nut 6" Metal Semi-Auto Brass Nut 4”S-14"Brush

Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

Wing Nut %"Unc C/St Zinc Plated B18.17

Sealing Rope Set 4mm L-1779

Flat Washer M6 Din125 S/5t.316

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000203

710105-000201

710105-000248

710105-000244

710105-000246

710103-000679

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

700190-001245

700101-000516

770104-000080

710102-000219

710103-000740

710103-000739

760102-000076

700190-001363

760103-000094

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6°S & 8" BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

MOLDED SCREEN

NO.

16
17
18
18
19
20
21
22
23
24
241
24.2
24.3
24.4

24.5

36

DESCRIPTION

Hex Bolt Full THRD M6 35mm S/St.304 Din933

2-Way Ball Valve 2" F/F Brass Manual

2" T Connector C/St. BSPT Brushaway Red

2" T Connector C/St. NPT Brushaway Red

Bushing 4"-14" 8" Metal Semi-Auto Delrin Guide Brush Axis

Fertilizers Clip PBT Black

Nut %" Threaded PP Plasson

Spring Washer M6 Din127 5/5t.316

Lock Spring Shaft Steel Filters S/5t.316L DW

Brushaway ASSY 6”S-14" for Mld Screen

Hex Bolt Full THRD M6 25mm S/St.316 Din933 DW

Brush 260mm 8" Metal Semi-Auto Plastic Unit F/Molded Screen

Hex Nut M6 S/5t.316 Din934 DW

Brush 473mm 8" Metal Semi-Auto Duplex Unit

8" Spindle+Frame S/St.316L Brushaway F/Molded Screen

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

760101-000447

730104-000265

710102-000130

710102-000132

710103-000777

710101-000974

780101-000975

760103-000109

760107-000053

700190-001462

760101-000445

710103-000749

760102-000085

710103-000748

710102-000221

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6”S & 8" BRUSHAWAY STEEL FILTER - DRAWING

PERFORATED SCREEN

37 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad K

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



6°S & 8" BRUSHAWAY STEEL FILTER PARTS SCHEDULE

PERFORATED SCREEN

NO.

1

9.1
10
1"

12
13
13

14

38

DESCRIPTION

Metal Housing 6”S In-Line Jad PKPK 3002 St.37-2 Polyester

Metal Housing 6”S In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line 1ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" In-Line ASA150 PKPK 3002 St.37-2 Polyester

Lid 67-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple " 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %"Unc 5 %" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St. Zinc Plated B18.17

Perforated Screen S/5t.316L 5720SQ.cm 1500Mic 8" Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Operating Handle S/St.316L F/4"-14" Brushaway

Tightening Nut 6" Metal Semi-Auto Brass Nut 4”S-14"Brush

Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

2" T Connector C/St. BSPT Brushaway Red

2" T Connector C/St. NPT Brushaway Red

2-Way Ball Valve 2" F/F Brass Manual

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000203

710105-000201

710105-000248

710105-000244

710105-000246

710103-000679

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

760102-000076

700101-000508

770104-000080

710102-000219

710103-000740

710103-000739

710102-000130

710102-000132

730104-000265

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6°S & 8" BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

PERFORATED SCREEN

NO.

15
16
17
18
19
20
21
22
23
23.1
23.2
233
23.4

23.5

39

DESCRIPTION

Hex Bolt Full THRD M6 35mm S/St.304 Din933

Spring Washer Mé Din127 S/St.316

Lock Spring Shaft Steel Filters S/S5t.3161 DW

Sealing Rope Set 4mm L-1779

Flat Washer M6 Din125 S/S5t.316

Clogging Indicator

8" Centering Ring 5/5t.316l

Center.Ring 6"MTL S.Auto Delrin Insert

Brush ASSY 6"S-14" (194) F/Perf

Brush 473mm 8" Metal Semi-Auto Duplex Unit

8" Spindle+Frame S/St.316L Brushaway F/Perforated Screen

Hex Nut M6 S/5t.316 Din934 DW

Hex Bolt Full THRD M6 25mm S/St.316 Din933 DW

Brush 242x14mm 2" Plastic Semi-Auto Plastic 2"T/8” B/A DW

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

760101-000447

760103-000109

760107-000053

700190-001363

760103-000094

700190-001245

710102-000163

710103-000735

700190-001461

710103-000748

710102-000220

760102-000085

760101-000445

710103-000685

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

6°S & 8" MODULAR SCANAWAY STEEL FILTER - DRAWING

® .:;.0.2_._:.
40 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad @ S

we
SSSSSSSSSSSS ARKAL FILTOMAT AMIAD



6°S & 8" MODULAR SCANAWAY STEEL FILTER PARTS SCHEDULE

NO.

1

7

9.1
10
1"

12
13
14
15

16

4]

DESCRIPTION

Metal Housing 6”S Modular BSTD PKPK 3002 C/St. Polyester

Metal Housing 6”S Modular Jad PKPK 3002 St.37-2 Polyester

Metal Housing 8" Modular ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 8" Modular BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" Modular ASA150 PKPK 3002 St.37-2 Polyester

Lid 8" Metal Semi-Auto Polyester W/2.5"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple V" 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %" Unc 5 %" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St. Zinc Plated B18.17

Molded Weavewire Screen S/S5t.316L 5720SQ.cm 130Mic 8” Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Drive Bolt 4"-14" 8" Metal Semi-Auto Delrin F/Scanaway Filter

Nut %" Threaded PP Plasson

Fertilizers Clip PBT Black

Suction Scanner (87)

Seal 8” Metal Semi-Auto Delrin Seat F/Scanaway Lid

Mm 0-Ring Seal ID60mm TH4mm NBR 70 Shore no Flash

Parker 0-Ring 2-235 NBR 70 Shore

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000210

710105-000212

710105-000261

710105-000257

710105-000259

710103-000780

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

760102-000076

700101-000515

770104-000080

710103-000776

780101-000975

710101-000974

700190-001471

710103-000778

770101-000040

770102-000124

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6°S & 8" MODULAR SCANAWAY STEEL FILTER PARTS SCHEDULE (continued)

NO. DESCRIPTION
17 Parker 0-Ring 2-232 NBR 70 Shore no Flash
18 Scanaway T Connector 4”-14" BSPT PKPK 3002 St.37-2 Polyester
18 Scanaway T Connector 4"-14" NPT PKPK 3002 St.37-2 Polyester
19 Clogging Indicator
20 Operating Handle S/St.316L F/Brushaway+Scanaway
21 Tightening Nut 6” Metal Semi-Auto Brass Nut 4”S-14"Brush
22 Bushing 6" Metal Semi-Auto Delrin F/4"S-14"
23 Flat Washer M6 Din125 S/S5t.316
24 Hex Bolt Full THRD M6 35mm S/St.304 Din933
25 Hex Nut M6 S/St.316 Din934 DW
26 2-Way Ball Valve 2" F/F Brass Manual
27 Sealing Rope Set 4mm L-1779
42 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

770102-000121

710105-000304

710105-000305

700190-001245

710102-000057

710103-000740

710103-000739

760103-000094

760101-000447

760102-000085

730104-000265

700190-001363

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6”S & 8" MODULAR BRUSHAWAY STEEL FILTER - DRAWING

MOLDED SCREEN

Qamiad” O & &

43 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com &
WATER SYSTEMS ARKAL FILTOMAT AMIAD



6”"S & 8" MODULAR BRUSHAWAY STEEL FILTER PARTS SCHEDULE

MOLDED SCREEN

NO.

1

9.1
10
1"
12
13
14

15

44

DESCRIPTION

Metal Housing 6”S Modular BSTD PKPK 3002 C/St. Polyester
Metal Housing 6”S Modular Jad PKPK 3002 St.37-2 Polyester
Metal Housing 8" Modular ISO16 PKPK 3002 St.37-2 Polyester
Metal Housing 8" Modular BSTD PKPK 3002 St.37-2 Polyester
Metal Housing 8" Modular ASA150 PKPK 3002 St.37-2 Polyester
Lid 6”-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple " 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %"Unc 5 %" C/St. ASME B18.2.1 Z.Plated
Flat Washer M20 Din125 C/St. Zinc Plated

Clogging Indicator

Molded Weavewire Screen S/5t.316L 5720SQ.cm 130Mic 8” Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter
Operating Handle S/St.316L F/4"-14" Brushaway

Tightening Nut 6" Metal Semi-Auto Brass Nut 4”S-14"Brush
Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

Wing Nut %" Unc C/St. Zinc Plated B18.17

Sealing Rope Set 4mm L-1779

Flat Washer M6 Din125 S/5t.316

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000210

710105-000212

710105-000261

710105-000257

710105-000259

710103-000679

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

700190-001245

700101-000515

770104-000080

710102-000219

710103-000740

710103-000739

760102-000076

700190-001363

760103-000094

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6”S & 8" MODULAR BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

MOLDED SCREEN

NO.

16
17
18
18
19
20
21
22
23
24
241
24.2
24.3
24.4

24.5

45

DESCRIPTION

Hex Bolt Full THRD M6 35mm S/St.304 Din933

2-Way Ball Valve 2" F/F Brass Manual

2" T Connector C/St. BSPT Brushaway Red

2" T Connector C/St. NPT Brushaway Red

Bushing 4"-14" 8" Metal Semi-Auto Delrin Guide Brush Axis

Fertilizers Clip PBT Black

Nut %" Threaded PP Plasson

Spring Washer M6 Din127 5/5t.316

Lock Spring Shaft Steel Filters S/St.3161 DW

Brushaway ASSY 67S-14" for MLD Screen

Hex Bolt Full THRD M6 25mm S/St.316 Din933 DW

Brush 260mm 8" Metal Semi-Auto Plastic Unit F/Molded Screen

Hex Nut M6 S/5t.316 Din934 DW

Brush 473mm 8" Metal Semi-Auto Duplex Unit

8” Spindle+Frame S/St.3161 Brushaway F/Molded Screen

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

760101-000447

730104-000265

710102-000130

710102-000132

710103-000777

710101-000974

780101-000975

760103-000109

760107-000053

700190-001462

760101-000445

710103-000749

760102-000085

710103-000748

710102-000221

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




£ AMIAD

6°S & 8" BRUSHAWAY STEEL FILTER - DRAWING

PERFORATED SCREEN

N cNeRe
46 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad Rl
ARKAL FILTOMAT AMIAD

SSSSSSSSSSSS



6”°S & 8" MODULAR BRUSHAWAY STEEL FILTER PARTS SCHEDULE

PERFORATED SCREEN

NO.

1

9.1
10
1"

12
13
14

15

47

DESCRIPTION

Metal Housing 6”S Modular BSTD PKPK 3002 C/St. Polyester

Metal Housing 6”S Modular Jad PKPK 3002 St.37-2 Polyester

Metal Housing 8" Modular ISO16 PKPK 3002 St.37-2 Polyester

Metal Housing 8" Modular BSTD PKPK 3002 St.37-2 Polyester

Metal Housing 8" Modular ASA150 PKPK 3002 St.37-2 Polyester

Lid 67-14" 8" Metal Polyester W/2"THR

Hydraulic Seal NBR 45 Shore Polyester Lid Steel Filter

Nipple " 2" Metal Brass BSPT

Pressure Check Point (Plastic) W/O Nipple

Hex Bolt Partial THRD %" Unc 5 %" C/St. ASME B18.2.1 Z.Plated

Flat Washer M20 Din125 C/St. Zinc Plated

Wing Nut %"Unc C/St. Zinc Plated B18.17

Perforated Screen S/5t.316L 5720SQ.cm 1500Mic 8" Metal

For all available filtration degrees, see pages 49-51

Hydraulic Seal EPDM Yellow Dot 70 Shore Screen Steel Filter

Clogging Indicator

Operating Handle S/St.316L F/4"-14" Brushaway

Tightening Nut 6” Metal Semi-Auto Brass Nut 4”S-14"Brush

Bushing 6" Metal Semi-Auto Delrin F/4"S-14"

Sealing Rope Set 4mm L-1779

Flat Washer M6 Din125 S/5t.316

| Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

710105-000210

710105-000212

710105-000261

710105-000257

710105-000259

710103-000679

770104-000089

710103-000591

700190-001305

760101-000297

760103-000070

760102-000076

700101-000508

770104-000080

700190-001245

710102-000219

710103-000740

710103-000739

700190-001363

760103-000094

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




6°S & 8" MODULAR BRUSHAWAY STEEL FILTER PARTS SCHEDULE (continued)

PERFORATED SCREEN

NO. DESCRIPTION

16 Hex Bolt Full THRD Mé 35mm S/St.304 Din933

17 8" Centering Ring 5/St.316l

18 Center.ring 6”"Mtl S.Auto Delrin Insert

19 2-Way Ball Valve 2" F/F Brass Manual

20 Spring Washer Mé Din127 S/St.316

21 Lock Spring Shaft Steel Filters S/5t.3161 DW

22 2" T Connector C/St BSPT Brushaway Red

22 2" T Connector C/St NPT Brushaway Red

23 Brush ASSY 6"S-14" (194) F/Perf

23.1 Hex Bolt Full THRD Mé 25mm S/St.316 Din933 DW

23.2 Brush 242x14mm 2" Plastic Semi-Auto Plastic 2"T/8" B/A DW

23.3 Hex Nut M6 S/St.316 Din934 DW

23.4 Brush 473mm 8" Metal Semi-Auto Duplex Unit

23.5 8" Spindle+Frame S/St.316L Brushaway F/Perforated Screen
48 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

760101-000447

710102-000163

710103-000735

730104-000265

760103-000109

760107-000053

710102-000130

710102-000132

700190-001461

760101-000445

710103-000685

760102-000085

710103-000748

710102-000220

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




MOLDED WEAVEWIRE SCREENS

DESCRIPTION

Molded Weavewire Screen S/St.316L 1430SQ.cm 50Mic 3" Metal

Molded Weavewire Screen S/St.316L 1430SQ.cm 80Mic 3" Metal

Molded Weavewire Screen S5/St.316L 1430SQ.cm 100Mic 3" Metal
Molded Weavewire Screen S5/St.316L 1430SQ.cm 130Mic 3" Metal
Molded Weavewire Screen S5/St.316L 14305Q.cm 200Mic 3" Metal
Molded Weavewire Screen 5/St.316L 14305SQ.cm 300Mic 3" Metal
Molded Weavewire Screen 5/5t.316L 14305SQ.cm 500Mic 3" Metal
Molded Weavewire Screen 5/5t.316L 14305SQ.cm 800Mic 3" Metal
Molded Weavewire Screen S/St.316L 21755Q.cm 50Mic 4" Metal

Molded Weavewire Screen 5/S5t.316L 21755Q.cm 80Mic 4" Metal

Molded Weavewire Screen S5/St.316L 21755Q.cm 100Mic 4" Metal
Molded Weavewire Screen S/S5t.316L 21755Q.cm 130Mic 4" Metal
Molded Weavewire Screen S/St.316L 21755Q.cm 200Mic 4" Metal
Molded Weavewire Screen S/S5t.316L 21755Q.cm 300Mic 4" Metal
Molded Weavewire Screen S/St.316L 21755Q.cm 500Mic 4" Metal
Molded Weavewire Screen S/St.316L 2740SQ.cm 80Mic 6" Metal

Molded Weavewire Screen S/St.316L 2740SQ.cm 100Mic 6" Metal
Molded Weavewire Screen S/St.316L 2740SQ.cm 130Mic 6" Metal

Molded Weavewire Screen S/St.316L 2740SQ.cm 200Mic 6" Metal

49 | Spare Parts List Steel Filters Amiad www.irrigationglobal.com

SAP. CAT.NO.

700101-000446

700101-000447

700101-000448

700101-000449

700101-000450

700101-000451

700101-000452

700101-000453

700101-000470

700101-000471

700101-000472

700101-000473

700101-000474

700101-000475

700101-000476

700101-000487

700101-000488

700101-000489

700101-000490

(Continued)

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT




MOLDED WEAVEWIRE SCREENS (continued)

DESCRIPTION SAP. CAT.NO.

Molded Weavewire Screen S/St.316L 2740SQ.cm 300Mic 6" Metal 700101-000491
Molded Weavewire Screen S/St.316L 2740SQ.cm 500Mic 6" Metal 700101-000492
Molded Weavewire Screen S/St.316L 5720SQ.cm 80Mic 8" Metal 700101-000513
Molded Weavewire Screen S/St.316L 5720SQ.cm 100Mic 8" Metal 700101-000514
Molded Weavewire Screen S/St.316L 5720SQ.cm 130Mic 8" Metal 700101-000515
Molded Weavewire Screen S/St.316L 5720SQ.cm 200Mic 8" Metal 700101-000516
Molded Weavewire Screen S/St.316L 5720SQ.cm 300Mic 8" Metal 700101-000517
Molded Weavewire Screen S/St.316L 5720SQ.cm 500Mic 8" Metal 700101-000518

) £
SO | Spare Parts List Steel Filters Amiad www.irrigationglobal.com Q amlad

WATER SYSTEMS ARKAL FILTOMAT




PERFORATED SCREENS

DESCRIPTION

Perforated Screen S/St.316L 14305Q.cm 500Mic 3" Metal

Perforated Screen S/St.316L 14305Q.cm 800Mic 3" Metal

Perforated Screen S/5t.316L 1430SQ.cm 1500Mic 3" Metal

Perforated Screen S/St.316L 14305Q.cm 2500Mic 3" Metal

Perforated Screen S/St.316L 14305Q.cm 3500Mic 3" Metal

Perforated Screen S/St.316L 21755Q.cm 500Mic 4" Metal

Perforated Screen S/St.316L 21755Q.cm 800Mic 4" Metal

Perforated Screen S/St.316L 21755Q.cm 1500Mic 4" Metal

Perforated Screen S/St.316L 21755Q.cm 2500Mic 4" Metal

Perforated Screen S/St.316L 21755Q.cm 3500Mic 4" Metal

Perforated Screen S/St.316L 2740SQ.cm 500Mic 6" Metal

Perforated Screen S/St.316L 27405Q.cm 800Mic 6" Metal

Perforated Screen S/St.316L 27405Q.cm 1500Mic 6" Metal

Perforated Screen S/St.316L 2740SQ.cm 2500Mic 6" Metal

Perforated Screen S/St.316L 27405Q.cm 3500Mic 6" Metal

Perforated Screen S/St.316L 5720SQ.cm 500Mic 8" Metal

Perforated Screen S/St.316L 5720SQ.cm 800Mic 8” Metal

Perforated Screen S/St.316L 5720SQ.cm 1500Mic 8" Metal

Perforated Screen S/St.316L 5720SQ.cm 2500Mic 8" Metal

Perforated Screen S/St.316L 5720SQ.cm 3500Mic 8" Metal

Spare Parts for Plastic and Metal Screen Filters Amiad

SAP. CAT.NO.

700101-000437

700101-000438

700101-000439

700101-000440

700101-000441

700101-000463

700101-000464

700101-000465

700101-000466

700101-000467

700101-000485

700101-000486

700101-000482

700101-000483

700101-000484

700101-000511

700101-000512

700101-000508

700101-000509

700101-000510

Manual, Automatic and Semi Automatic - Click for Orders and Support

S] | Spare Parts List Steel Filters Amiad www.irrigationglobal.com

Qamiad e

WATER SYSTEMS

ARKAL FILTOMAT



https://www.irrigationglobal.com/contents/en-us/d20369_semi_automatic_brushaway_scanaway_filters_spare_parts.html



